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N P,Os K,0
N PO, KO
50 H11 N50% 5+2 2+1 7 742
H11 HI3 NSO 8 8 8 N100% 7 5 7
100 5+2 5+2 7 10+2
NLOO 6 4 4 H12 N50% 8 2+1 8 8
H13 N100% 8 6 6
H14 50 8 8 8 6+2 6+2 7 10+2
H14 N50% 6+2 3+1 6+2 6+2
N100% 8 6 4
100 6 4 3 6+2 6+2 7 10+2
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N50% N50% N100% (%)
H11 |IN50% 1.0 -
H11 14 [¢] [¢] [e] Nloo 10 _
H10 12 o o 1.0 -
H11 14 ° H12 [N50% 1.0 5.3
HIL 14 ° N100 1.0 5.4
H11,12,14 o ° 2.0 5.3
H13 IN50% 2.5 5.2
N100 2.5 5.2
3.0 5.2
H14 IN50% 2.0 5.3
N100 2.0 5.2
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N-P-K () () ()] (k9)
N50% 8-8-8 2,000 5 10,000 518 300 360
N100% 6-4-3 2,300 7 16,100 524 960 1,020
8-25-18 1,720 4
’ 8,050 540
NKC17 17-0-17 1,170 1 ’
LP505 LP 15-20-15 2,370 3 7,110 540




